
Practice Sheet (Hot)

1. 5631 ÷ 5 = 1126 1/5
2. 8621 ÷ 4 = 2155 1/4
3. 4478 ÷ 3 = 1492 2/3
4. 6832 ÷ 6 = 1138 4/6
5. 8234 ÷ 7 = 1176 2/7
6. 3345 ÷ 4 = 836 1/4
7. 2845 ÷ 3 = 948 1/3
8. 5043 ÷ 3 = 1681
9. 4823 ÷ 5 = 964 3/5
10. 6728 ÷ 8 = 841
11. 4527 ÷ 6 = 754 3/6
12. 2934 ÷ 7 = 419 1/7

Challenge

Write two other divisions by 6 with answers less 
than 1000.
e.g.  5662 ÷ 6 = 943 2/3 and 3638 ÷ 6 = 603 1/3
Write two other divisions by 6 with answers be-
tween 1000 and 1200.
e.g.  6404 ÷ 6 = 1067 1/3 and 7199 ÷ 6 = 1199 5/6

Practice Sheet Answers

Practice Sheet (Mild)

1. 467 ÷ 3 = 155 2/3
2. 623 ÷ 4 = 155 3/4
3. 277 ÷ 3 = 92 1/3
4. 651 ÷ 8 = 81 3/8
5. 459 ÷ 6 = 76 3/6
6. 272 ÷ 5 = 54 2/5
7. 5631 ÷ 5 = 1126 1/5
8. 8621 ÷ 4 = 2155 1/4
9. 4478 ÷ 3 = 1492 2/3
10. 6832 ÷ 6 = 1138 4/6
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